"3

~ 5

aﬂs ,?_-_E‘l_:,(:ﬁt iﬁ"?’{f?‘ )J

3303 (2009/10 = 2011/12 B Mg @ 4 )3 374x

gEn Tk AEREB [ FE [ER[ GPHZ =4 TERA A
z 3k A T 51 F3 4% K
TR F 09/10|10/11}11/12 09/10 10/11 11/12
O fl o pEdh | KEarA TR B D B | 09 & 10 0 ¢ 20 / /| EB A T0% 2 (300 &~ x6 = [300 &~ x6 =% / ¥ iEP
PR Rt ER We10 [ v2 | / | 2| / |[$%%3 LEmBHX2 L x2 /|
37 =3, 600 ~ =3, 600 ~
N S L S Y ¢ o7 / 20 / %:Q“C’%Z?L:};—‘E;ﬁqlf% / 100 ~ x20 4 / nET
PEEE_ MiTE2 4]iF a8 2 3 =2.000 ~
R e L b e 10#11*32| #3 / 20 AE SRR S S UR L e / 400 ~ x6 /| / F#T
Iz BBEEY 2 8 chw 11&10* Y FH 2 A P
3 =2, 400 ~
WEP A BB EFY ARG RAEE| 10k vw | A | / | / |[FEB&T0R& 2|75 ~x1.5 |75 & x5 | / Mz
Pl hBcE PR K| ot 40 260 FAe B 4 G EARA |[PF X9 ¥ x0 e pFx8 ¥ xb iR L
A BRI A o |F A i 11 = ¢T / 20 | / |REHESOEEL 4T 2 x15 =4,500 =~
41 36" BREL A P x9.5 ¥
=10, 181. 25
HBRTH | BEYREH > L(FEP Wit 11 &40 L / 40 /o |FEB A T0% / 240 =~ x40 * / M B
PR B4 Ml MRY Gt T S F ARG TR =9, 600 =~
B AThg B o |27 B e BRI G
TRELF GBS RAE RGBT W | 11E4°7 | 93 | / | b | / |REAET0%E / 240 ~ x15 / ¥Rk
AU R A s MR BT FAoFLine SR =3, 600 =
A > R ALE| S P AV P WEL
B4 2T g AR 2 DK Ry
4 o
PR AL (BB RY o [EE KA 11 = L / 20 /(R EA A T0% / 150 ~ x8 /] / T iR
I ELE S T I 91 % 31 S B A5 AR A P
) BApLILY H 4 o =1, 200 ~
PEE RSB RH RRY A B ARG 10&17 | dw | 2 | / | / |WE®E&:T0% 4t [350 = x22 £ 400 = x20 * ARETT
2Ry Y RDAM A E S B A REERN =7,700 ~| =8,000 ~
i A (SFE R 4 ) , AR 2 B
Sih oA WET T
A ) o




AL F4E AR i B P R = # ik FERA i 7
* 2k g pir | FZ2 g3 L% KEF
P E 09/10110/11|11/12 09/10 10/11 11/12
B FEr[EEF R YR B RAAR 10 = ¢ 80 / /R Ea A T0%8 1[40 ~ x80 4 [100 = x40 * / EE
FAEEY R EAFLE LY 17347 bRt E Rl =3,200~ =4,000 ~
12 iAo 11 & § 7 / 40 G Sy
17324: AR E T MR
AL ERL B ERHE R B | F R 10&10 | ¢z / 15 /(R EB A T0%E / 150 =~ x12 /] [150 = x12 /| | % &%
GF e YHRE R T % 1ne102 | ¢ = / / 14 | %484 0 LFE pF P
B & kT o * T N dc i ehk I =1,800 =| =1,800 =
WMTHHT|BES RO RYMTER | 1027 ¢ 14 / /| Ea A 0% r2[480 & x14 4 [480 & x15 4[240 =~ x15 4 |EH £
DIy oo aE TENE i / 15 /o |F R g AT =6,720~| =7,200~| =3,600 =~
B p T2 My e 12277 ¢ / / 15 |[2iEde 3T
BT A Hip[E B > 2% &L L 10&102 | ¢z / 10 | 7/ [FEad: 10% / 400 ~ x8 -] / 1
hop #31 B BB E 2 IIC ST SN - P
R = F bk s =3,200 ~
e f -
B2 4 B3 HEFH 5 FFA|Inter Cultural 10 # ¢ 7 / 15 /e Th=xE2 @i / 12,000 ~ (3 / 3+ 3 i
P A B > & ¥ 484 4 [Education 9% 3107 S ] #2)+2000 ~
RS E Lk R (3)
HE EE Y =14, 000 ~
. Byrd 2
EER
I I EE T TESTENEE: / 10 | /7 [FEad: 70% / 150 =~ x20 /| / B
B P RxIHAF B 4 P ENFARLIER (Y 99 ~ %k
PEPEHL Y PIREE Y FE Her)
7 . =3,099 =~
= 176 | 280 | 30 & #3753 (31,401.25 ~| 68,199 ~ 5,400 ~
oA = 486 BIEH 105, 000. 25 ~




